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AE AREED FTEAXA x %0, EB Fr e A& A
VA EA PR AR A = 4h . S e B PR R 69 2 ) AL
AR R
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P F(zrroyroze) BAEE=DA.
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mu{ﬂ 7
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B, =1,0 y =2,=1, vk m=,1,1)AFH
DAB 9 — A%k @d <.
'iﬂﬂi’ir_‘ﬁ] ABF éﬁ/i‘@%yj n:(xz,yz,zz),

ﬁ'n:O, N/?JTZZO, ,
E"J{H Ay % 2, =0.
BA +n=0. |—/2y,+/22,=0,
Boy,=1,0 2,=1,¥A n=1(0,1,1) 4 -F & ABF
#— Ak,
BT vA cos{m .n)= men_ 2 :@_
m[«nl 3x/2 3
Ww_wm@E D-AB-F 89 F®@mmho,
R sin 0—=/T—cos” (mom) — (6j _¥3

Frvh =& & D-AB-F é’JJE?Zﬁ’Lﬁ*

X553 ﬁzlﬁlrﬁ]EH‘Jﬁnl»‘Zﬁﬂ

B /\/\~
5 3 ﬁHEII,E%ﬂﬁﬁ%ﬁ%ﬁﬁABCD,LADC:90°,

=3, M Jg % fh &
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(2)3R =HeME P-ACQ R By B KA 5

(3) Y =B P-ACQ M ARl K. 3R HL&K AB 5
ST PBC FT A% AR 19 1E 5% 4H.

(DIERR . &£ H AH Y ABCD ¥,

DC DM CM 1

W AR T 4% ‘AB MB _AM _2°

B4 AB=2CD=.6 ,AD =3, T# AC:¥,BD
:3’

Bk AM =2MC =+2 ,BM =2DM =2.

# AM®+BM*=AB*.# AM | BM.® AC | BD,
AC_ DM,

]I E T ,AC L BM,AC_| PM.

X H® % PMNBM=M,PM,BMC-F& PBM,

Brvh AC_| & PBM.

(OfE: WA 5 QA PB#FLE,

P VA VQPA(‘:%V&PA(T-

X VQPA(‘ :VP—A(‘Q sVipac =Vpapc s
1
B YA Vpacq :?VP—/\B(‘ .

B A4 ACC-F& ABC,rvi+@ ABC | +& PBM,
A& P 3@ ABC $9FE® ,BP A & P 5| BM # 3k
BLEA .

1 1
E]ﬂ] SAA];(‘:?AB ° A(: ° SlnLCAB :Exﬁx
NN
BT d h sk KeF, = #H 4k P-ACQ #94k Rk K.
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1 PM=———=1,0 h<<PM =1,
AC
1 1 1
PRvks h=1 8, Vpaca) mx =5 (Vpane I = 5 X
342 . W2
XTle 1

(DR W (2)#F, % =4 P-ACQ Wik KB,
& P 3 -F@ ABC 93 5 PM=1,8% PM | &
ABC.A % AC,MBC-F¥& ABC,

Prvh PM | AC,PM | MB.

X B A AC_| BM, vk MA,MB,MP % /% & #.%
AM A B E.MAMB,MP Fife A& » A x 4,
yi 2 A S BTN AR AR R.
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n °ﬁ§=2y*z=0,

) bey=1,F1x=—2/2,2
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HAL AB 5 F @ PBC Frm i A 4 0,0 sin 0=
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\cos(ﬁ,nﬂz — = = s
IAB||n| 6x.y13 13

I B & AB 5% @& PBC P A éﬁigzﬁyblﬂ;.
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BEREFTEARNEANRBEZAHIENEN T
NERFTE —HEAT.ABENKERLTE.M
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(DS P fE% BB, L, ff P-A,C,-D, & 150°
B,k B, P K.
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B B,Co = (0. —2.1). A, D, = (0. — 2. 1) B 74
B.C.//A.D..
L B,Cy,AyD, RER —4& HZ% L,
Bk BoCy J/ AsD.
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) -
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b z=2,M y=3—A,x2=A— 1.0 An=Q—1,3—
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RN NI} | -7 B — :
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B _uev | vl
‘\ullvl lul[v]
MHEZ L, L5 LA sin 8= {u, m
MR u,v; HZAB || | Slr;.n‘cos\ut‘m v
B T ) M, PTG e ) =‘m “lulln|
RaE e FlHa, B
BRI n Fl ny)
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L.( % 3 N 81 5 A I 1) A «C
AT ELE L YT 1 i) B 5T o B9 1) R SR AR A
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4.8 M m=CQ,1,1,n="C1,1,1) % %KW F
e 1) 2, DU R S S T ARG I AR R QE 5% N ( )
NG V3 242
A.? B.? D.T
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A H% DD 5HZAF 1
B.HZ A.G 5°Fifi AEF V47
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D.H%k BC 51 AEF Bt i/ hy 45°
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z
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T
1 E BI\\;F
/A
o [V C
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2
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AE'n:**I—‘—y:O,

2
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2, A n=(2,1,2)4-F&@ AEF ¥y —/N~xm=. B
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S PTA A% AVG 5 -F @ AEF F47,% B E#.

< 1 _ 1 11
T C, SMBE—ZBE AB—2><1><2—4,}%
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Ky =g b h A EF SURE ABE #9358 # . # C
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Xﬂ'ﬂ_‘ DvB(lalao)9C(09190)9B‘(?:(*1909O)7i5’t
A% BC 5-F@ AEF PT84 0, 0 sin 0 =
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ik B.
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FZ.oBocsE T M A e aET N AR CanED
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3EF,AADE F1ABCF #8Jj&1E = /K. H AD =
2EF, N S 1f 5 4k DE 5 BF Frli i n9 K/h A
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B
X
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DE 5 BF Fi &8 f %7%

7AESS A B A AR bR R, B RPE T o i £0(3,0,0),

(0,4,0 M = 8 F— 5 0,0,a) (a>0). EF M a 5
Oxy “FHIA IS 45,0 a =
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5
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a a a a
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WA EF | cos(n.m)| =

9
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XHEA a=>0,H7vA a:%.
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x/ B C
# PA=AB=1,
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B4wmAD R F @ PAB # — Ak @1 %, AE 2 F &
V2
2
# PAB 5@ PCD # % fi 4 45°.3% % B.
2.(%#) WK, EJ7 & ABCD-A,B,C,D, KX
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mAC2,0,0),B(2,2,0),C(0,2,0),D(0,0,0),
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00,=2,0A= /3 , M RHHL AB 5 0,A Fiig

AR R )
o)
=
B
A
1
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F& ABD #9— Mk,

);)TV/L COS<n’&>>:§’ﬁﬁVX%@ ABD -5_‘1’_@
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4
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X SOCF & SAC,SO | AC,
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mon - (TE>:O,n . ﬁf’:O,
2x+/3y+/22=0,
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Aez=1,0 x=42 ,y=—16,
i n=(/2,—/6,1)%F @ ECD #§—/ k& &.
FHE SC 5F@ ECD Fimesfa ko,

BT vA

— - sC 42
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EL,0A a2 #h,0B Ay #,0P Hz 4, E 54 A

BT ey 2 R A A AR A

B A PO=.3,/PAD =30, Ff vA AO=3,
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